26.1  
a.  {(1,2),(2,4),(3,1),(4,6),(5,5),(6,3),(7,8),(8,9),(9,7)}


b.
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c.  (1,2,4,6,3)(5)(7,8,9)

d.  
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  Notice the difference between the (7,8) here vs. the 



same notation in part a

26.2
a.  
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b.  
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c.  
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d.  
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e.  
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f.  
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26.3  Notice that which elt. You start with is irrelevant.  That is, (1,2,3) is the same as (2,3,1).  The answer 


is (n-1)!

26.5  
a.  (1,4,7,6,9,3,2,5,8)


b.  (1,3,6,9,8,2,5,4,7)


c.  (1)(2,4)(3,5)(6,8)(7,9)


d.  (1)(5,4,3,2)(9,8,7,6)


e.  (8,6,4,2,9,7,5,3,1)


f.  ((1)(2)(3)(4)(5)(6)(7)(8)(9)


g.  (1,9)(2,8)(3,5)(4,6)(7)
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